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Semantic error (s




Syntax error

Runtime error (z
All type of errors (9
Gyl el..\SJ:ij Oyle 29 S
doiu e X =8 4
y=2
print(x //'y)
4.0 (S
4 (¢
16.0 (z
16 (o
Gl ?LAS 095k yo ya) Oy giews )yl daans .
Loy gie X=5 v
y=4
print(x % vy)
0 (i
20 (¢
1.0 (z
1 (4
Tl alas (ygaly ju yu ) Ol gheun )yl daaia
bl ; 5 g A
X +=y
print(x)
3 (<A
2 (¢
5 (d
1 (o
Cosl alas (gialy o ) Ol ygieus Gl daain
x =30
doiu gie y = 7 q
X %=y
print(x)
4 (&
28 (o




2

37

¢ syl {:L)S Osaby yu ) Ol sics gl yal aaass

X=3
y=7
print(x ==vy)

y=7and x =3

True

x=3andy=3

False
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x =20
y =40
z=yif (y >x) elsex
print(z)

True

False

20

40

Cosl alas (gialy o ) Ol ygieus Gl daais

X =65
y =53
z=yif(Xx % 2==0) else x
print(z)

True

False

65

53
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X ='24"+'16'
print(x)
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2416
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x =[7, 8,9, 10]
List (S
Dictionary (¢
Tuple (z
String (4
S syl {:L)S ujﬁfl:‘ o9 2 Gl siiuy gl daais
b g x = ['Today', 'Tomorrow', 'Yesterday'] 1
y =x[1]
print(y)
X1 (3
Today (e
Tomorrow (z
Yesterday (¢
Tl alas ¢y gals ju yu ) Oy ghen )yl daais
S x = [[0.0, 1.0, 2.0],[4.0, 5.0, 6.0]] \7
y = x[1][2]
print(y)
0.0 (i
1.0 (<
5.0 (z
6.0 (4
Cosl alas (gialy o ) Ol ygheus Gl daain
. x=1[5,4,3,2] v
x.append(1)
print(x)
[5, 4, 3, 2] C
5432, 1 (¢
5432 (d
[5,4,3,2 1] (s
Clacdl el.\S 03331,) 9% ) C.abj:u.ud 5|J.‘.;| 4.;:\:\4
b gis x =[5, 4,3, 2] "
x.insert(1, 0)
print(x)
[51 11 31 21 O] (d'"




[5.0.4, 3, 2] (¢
[0,5, 4,3, 2] (z
[1,5,4,3, 2] (s
Clsal alas (gialy o ) &y gheus Gl daain
Lo gie x =[5,4,3,2,1] '
print(x.pop(3))
d (S
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b gie x=[4,0,7] v
y = str(x[0]) + str(x[1])
print(y)
11 (3
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40 (€
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Cosl alas (galy o gy Ol ygieus Gl daais
Olest x =[5, 4,3,2,1] A
print(x.index(1))
4 (S
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1 (a
(Cadl plas G gialy o 53 O gis 1yl daais
ol x = [24, 50, 37] Yy
y =241in X
print(y)
x[0] (&
[24] (<
True (d
False (o
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ol x ={0:4, 1:8, 2:16, 3:32} v
y =8in X
print(y)
x[0] (&
[24] (<
True (z
False (s
¢ syl {:L)S Osaby yu ) Ol s gl yal aaass
Lo gis ¥
x ={0:4, 1:8, 2:16, 3:32}
print(list(x.values())[2])
[4, 8] (s
[4, 8, 16] (¢
16 (€
8 (o
Cosl alas (galy o gy Ol ygieus Gl daais
b gio x ={0:4, 1:8, 2:16, 3:32} Yo
print(x.items())
dict_items(4, 8, 16, 32) (S
dict_items([4, 8, 16, 32]) (¢
dict_items]O0, 1, 2, 3] (z
dict items([(0, 4), (1, 8), (2, 16), (3, 32)]) (o
G ael e‘.\S uﬁ:‘:'l:‘ L8 Cabglmd LS‘J?‘ 4.;3.14
X=8
b gl if x > 8: Y7
print(20)
else:
print(10)
20 (s
X (¢
10 (d
8 (o
Olel Cul yaadd Jul8 jud jay ayl g0 3 Saalas A/
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Dictionary (&
Tuple (z
Set (s
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X =40
) if x> 10:
Lo gie print(20) YA
elif x == 40:
print(10)
else:
print(30)
20 (3
40 (¢
10 (d
30 (o
Cosl alas (gialy o gy Ol ygieus Gl daais
X =25
if x>10 and x < 15:
) print(‘true’)
L gl elif x > 15 and x < 25: v
print('not true’)
elif x >25 and x < 35:
print(‘false’)
else:
print('not false')
True (&
False (o
Not true (T
Not false (o
¢l e‘.\S uﬁ:‘:'l:‘ o9 J:!j C:b‘s:u.ud LS‘J?‘ 4.;..3.1.:
X =25
if x >=10 and x <= 15:
print('true’)
-, s r.

elif x >= 15 and x <= 25:
print('not true’)

elif x >= 25 and x <= 35:
print(‘false’)

else:

print('not false")

True

(<




False (&
Not true (T
Not false (4
G Cayl el..\S u\g:\:ll,) 99 ) Cabj:u.ud 5|J..:| 4.3:\:\4
X =40
y=25
if x +y >=100:
e print(‘true’) ¥
elif x +y == 50:
print('not true')
elif x +y <=90:
print(‘false’)
else:
print('not false")
True (S
False (<
Not true (€
Not false (s
Tl alas (ygaaly ju yu ) O gheun )yl daain
olel x=1 Yy
while x < 10:
print(x, end=")
X=x+1
123456789 (S
1 €
10 (T
2 (s
G ael e‘.\S uﬁ:‘:'l:‘ L8 C:b‘s:u.ud LS‘J?‘ 4.;..3.1.:
x=1
oy gie y=4 v
while x *y < 10:
print(y, end=")
Xx+=1
y+=1
4 (<
48 (¢
148 (z

0123456789




CCaul {:US ujﬁzll;l_)éﬁj C_':bjl«.ud 6‘_)?“‘-?:‘:‘:‘

Ja.w‘,lo X,y = 0, 1 vy
while y < 10:
print(y, end="")
X, Y=Y, Xty
112358 (S
112358 (e
0123456789 (¢
02468 (s
Q! el..\S uﬁfl,)JdJ:lj Cabjlu.:..\ 5|J..:|4..§:\:\;\
Xx=1
while x < 4:
.h.u.n‘glo X += 1 Yo
y=1
whiley < 3:
print(y, end="")
y+=1
1122 (<
11223344 (o
1234 (z
121212 (o
Cosl alas (gialy o gy Ol ygieus Gl daais
i x = 'hello’ v#
foriin x;
print(i, end=")
h (<A
Hello (o
hello (d
i X (o
Sl e‘.\S 03:':":'.)4‘):'3 Cabglmd LS‘J?N'.;:}I‘
i x = 'hello’ v
foriin x:
print(i, end=")
5 ]
15 (e
012345 (z

01234
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Jacu gio ¥A
foriinrange(1,25,5):
print(i, end="")
16111621 (&
1510152025 (&
1525 (T
16111621 (s
G ayl el.\S u\g:\:ll,) 99 ) Cabj:u.ud 5|J..;| 4.;:\:\.\
M‘S:Lo X = ['Pll Iy.! Itll 'hI! IO') Ir]I] Y’«
for i in enumerate(x):
print(i, end=")
(P)Cy)(t)(h)(0’)(n) (8
Python (¢
Python (&
(0, 'PH(A, 'y)(2, 't)(3, 'h")(4, '0')(5,'n") (4
Cosl alas (galy o gy Ol ygieus Gl daais
Lo g x ={'x"1,'y"2,'z":3} ¥
fori, jin x.items():
print(i, j, end="")
XYz (<A
x1ly2z3 €
x:1y:2z:3 (z
x,1,y,223 (s
¢ Caul e‘.\S uﬁ:‘:'l:‘ L8 C:b‘s:u.ud LS‘J?‘ 4.;..3.1.:
s X = [Ip" 'y" 't 'hl1 ‘o', Inl] ¥\
y=['0,'1,'2", '3, '4",'5']
foriin zip(x,y):
print(i, end=")
(P)Cy)(t)(h)(o’)(n’) (8
python 012345 (o
(P, 0y 1), 2)(h', *3)(0", ‘4)(n', '5) @
(0, 'P')(1, 'y)(2, 't')(3, 'h')(4, "'0')(5, 'n’) (s
Cosal alas (5 gialy o ) Ol ygheus Gl daain
b g foriin range(1,5): A

print(i, end=")
ifi ==3:




break
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1234 (o
12 (T
12345 (o
S syl {:L)S ujﬁfl:‘ o9 2 Gl siiuy gl daans
ol . # fr
foriin range(0,5):
if i ==2:
break
print(i, end=")
12 (<
01 €
012 (z
0123 (o
Q! eL\S u‘g:a:aLg BERE) Cabjla.ud 6')?‘ 4.;33.4
Olel . # 41
foriinrange(1,5):
if i ==3:
continue
print(i, end="")
124 (ca
1234 (o
12 (d
123 (s
Cosl alas (gialy o ) Ol ygheus Gl daaia
L g myvar=5 | ' Yo
def printvar() :
print(myvar)
printvar()
01245 (<A
12345 (o
5 (€

1234




CCacul ?LAS ugﬁflg BERS) Cab}:u.u.a LS‘J-?‘ LEWYER

b gis def call(varl, var2): | ' \ig
print(varl + var2, end =")
call(10, 40)
10 (<A
50 (e
40 (z
10+40 (o
¢ syl {:L)S ujﬁfl:‘ o9 2 Gl giiuy gl daains
Lo g Ve 184
> def call(var1=20, var2=5, var3=2) :
print(varl * var2 * var3, end =")
call(5,7)
57 (<
315 (o
70 (€
200 (s
Tl alas (ygaaly ju yu ) Ol ghen )yl daaia
Joy g3 s ¥
> def call(var1=20, var2=5, var3=2) : g
print((varl * var2) - var3, end =")
call(var2=5, var3=3, var1l=4)
17 (ca
98 (2
70 (d
11 (v
G ael e‘ds (J}:‘:'L:' SER-8) C.':bjlwd 6‘)?‘ 4A:t:i.t
Ol 4 ¥4
def call(x, y) :
return x *y
print(call(5, 3))
5 (A




5.0 (o
0 (€
None (4
G Cayl el..\S u33:ll=\ 99 ) Cabjlu.:..\ 5|J..:| 4.;,)3.\
Ja.w‘,lo q O
def call(x, y) :
return x *y
print(call(5, 3))
8 (<A
5,3 €
15 (€
8 (o
Tl alas (ygals ju yu ) Ol gheun )yl daain
S Ve o)
y =lambda x: x*4
print(y(6))
24 (3
24.0 (<
6.24 (z
36 (o
Cosl alas (gialy o ) Ol ygheus Gl daain
oy gl X =27 5 oy
if x <25:
print(x)
else:
pass
None (S
25 (¢
27 (d
IR (9 (s
Clacdl el.\S 03331,) 9% ) C.abj:u.ud 5|J.‘.;| 4.;:\:\4
o gl $ o

def gen():
x=0
while True:




yield x

x+=1

y =gen()
print(next(y), end=")
print(next(y), end=")
print(next(y), end=")

012 (S
123 (w
111 (&
000 (s
G ayl el..\S u\g:\:ll,) 9% ) Cabj:u.ud 5|J..:| 4.3:\:\4
def gen():
X=2
while True:
i yield x oY
X+=1
y = gen()
foriiny:
if i >=5:
break
else:
print(i, end=")
0123 (3
123 (o
12345 (z
234 (4
(980 pladl 5,18 a5 ) g
.b.u.t‘,:\.a fala)
import keyword, sys
23S g0 93181 (3 galy slae 3l guals poles (<
28 oo 9 8 1) caieuis sl g5le § Lao sl guals (o
NS g0 3193 8 ) (oiouases g 53 g Lao guals (€
Iy el SYS gkeyword gliels as alags, 9is il colad
i o s (4
vt FEN R
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Ole] oF

import random as rd




print(rd.randint(4,7))
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¢l el..\S u\g:\:ll,) 9% ) Cabj:u.ud 5|J..:| 4.3:\:\4
Ja.w‘,lo )%
from random import *
x =[0, 2, 4,6, 8, 10]
print(sample(x, 3))
X Caeuad ) Solaad wals dus Jobid dul T <o (<
\~3~Q:‘._‘al3';.|.:&sma‘,lﬁ.om (<
X Cauad 3 o) gads puaiic ¥ Joldd Juls <o (s
Tl alas (ygialy ju yu ) O ghein )yl daaia
h.u-lj:ﬁ.é OA
import math
print(math.floor(67.3))
67 (<
67.0 (o
68 (d
68.0 (a
Cosl alas (gialy o gy Ol ygheus Gl daain
.h.w‘glo 04
import math
print(math.ceil(21.4))
21 (&1
2 (¢
21.0 (z
22.0 (a
S| e‘ds (J}:‘:'L:' L8 C.':bjlwd 6‘)?‘ 4A:t:i.t
hﬁﬂj:\.d f.

import math




print(math.pow(3,2))

6 (3
9 (¢
6 (d
9.0 (s
Caaaa oo alaal (5 IS da ya ) Ol 5 gheay
Lo gie _ _ Ve £
iImport datetime
print(datetime.datetime.today())
S0 gl |y gley 9 1,6 (S
Saass pilas | cadidass B owsilasSly slacsele ) (o 4 (¢
a0 Gl | Hla j9, I (Sabeas loy S (T
Saage Gl |, 4Bda a5yl G9y pedl (s
S Ve #Y
from datetime import *
print(datetime.today().strftime('%d"))
okl aue S Gl o iyl Tase 5 il &y g |y syl Gle) (i
Y
aAy o Gl
Soludie) sas S alld a8 e 31 s & guods | 5l o)
Ay o Gl (e
s aae S Gl 5o g fuse 51 il & guods 1) 5l o)
.. (€
a0 b
e sue S Gl gl fass ) dllia o) o |y 5yl Ole) (
3
V- Y- gyg) oo %)
Lo gis o Y
from time import *
sleep(3)
a0 ¥ Caao da dels g (gl ol ju ddd g (&
il ¥ Ciae da dols s gl yal jo 483 g (o
s aae Sl s g fuss 51 il & guods | 5l o)
(€

a0 oo (b
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¢l el..\S uﬁflﬂJdﬁj Cabj:u.ud 5|J..:|4..§:\:\l

i Y ¥
X ='Python’
print('y' in x)

Y (i

Y (¢

Python (z

True (s
Cosl alas (gialy o gy Ol ygieus Gl daais

i \e #0
x ='{} 3 {}'.format('‘Python’, 'Test")
print(x)

Python 3 Test (<A

Python Test (<

Test 3 Python (T

Test Python (s
(el plas G gialy o 53 O gies 1yl daais

i x ='{1} for {0} .format('Python’, 'Questions’) Ve <4
print(x)

Python MCQ (S

MCQ Test (¢

Test MCQ Python (z

Python MCQ Test (4
(ol plas G gialy o 53 O gies 1yl daais

Lo gic 4 PV
X ='Python %.1f or Python %.2f' %(2.7, 3.51)
print(x)

Python 3.51 or Python 2. (S

Python 2 or Python 3 (&

Python 2.7 or Python 3.5 (z

Python 2.7 or Python 3.51
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#A
X ='python job interview'
print(x.title())

python job interview (S

Python job interview (&

Python Job Interview (z

Python job Interview (s
G ayl el..\S u\g:\:ll,) 99 ) Cabj:u.ud 5|J..:| 4.3:\:\4

o g3 #4
e X ="' Python'
y = I3I
print(x.Istrip()+y.Istrip())

Python 3 (S

3Python3 (¢

Python3 (T

Python+3 (s
Tl alas (ygaly ju yu ) Ol gheun )yl daais

Lo gis Ve
X ='Interview'
print(x.replace('e',' "))

Interview (A

Intrviw (o

Interview (z

Int rvi w (o
Cosl alas (gialy o ) Ol gy Gl daain

Lo gis VA
x ='Python Pi Py’
print(x.find('p"))

ol (<

0 (¢

1 (€




3
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Loy gis " VY
x = open('python.csv’, 'r')

e g 1 Hu Bou S JL 1, PYLhON.CSV als 4 59 9o Siie Jals (&

AdiS Caiu gy B ou S JL 1, PYLNON.CSV als 4 5 g 9o Siie Juls (o

Al gas L 0uyS 5L 1, PYLNON.CSV als 4 892 g0 Ao Julé (z

asil 93 B 00 S 3L PYLhON.CSV als @ wausa e Jild <o (s
faas o0 plaal g IS ap ) H9hen

Lo gie W vy
X = open('python.txt', 'a+")

Al g3 1y 5T B ouys 3L 1, PYthon.txt als au e Jald < (&
OF o b adilgas ) 6T Gou,s 5L 1, python.txt al 4 Ade Juls

ot 2 (=

e 933 o Ha B ou S jL T, PYython.txt ab 4 e b <o (c
Iy Ol B ajla o b g aiS 2o 5L PYthON.EXT als 4 e Jald <o

e s (+
prewsgis o gLl Ha b g pail g3
Cosl alas (gialy o ) Ol ygheus Gl daais

Lo gis N V¥
x = open(‘python.csv’, 'w')
print(x.closed)

Open (S

Closed (o

True (z

False (o
£ 42 paS ouldiivul dalgl (oA3 e (g (5 e ) ol y1 49 S

Lo gis Y Vo
3 gl o0 oaly ialal albeA

Not declared (&

Not defined (o

Not assigned (z

Not a variable




G993 walsa da 1) Hsies lal J oy 295

Busgis print(‘2\t4') v
2t4 (S
2\t4 (<

24 (T
2tab 4 (s
] a3 salgd Oy guo 4 @3 ) Hgieus o Lo Slas )l i 3
Oled! \a%
10*4-1+8/5
£ (B AD el i (<
Ea e (D oy (¢
£ A « b paned (z
O e (¢
ol Sl O gialy yu yadio (5153 Je8ald als S 51 9l 9 5 Saplas VA
a$l (&
al (¢
abc 123 (z
la (o
Soacl AlaS (gl o 43y O gy (51l daail
Lo gis va
a =round(4.49999)
print(a)
4 (<A
5 (2
4 (€
4.5 (3
S0l aal g3 ouls Glulad (allad £ 53 4 35 5 g gl 5 g
o a=b A+
SyntaxError (&
TypeError (¢
ValueError (z
NameError (o
Loy gis Gl alas ¢y gials ju yu ) Ol ghein )yl daain AN




x = list(map(lambda x:x**2, range(5)))

print(x)
[O! 1! 21 3’ 41 5] (&l
[1, 4,9, 16, 25] €
[0, 1, 4,9, 16, 25] (z
[0,1,4,9,16] (s
G ayl el..\S u\g:\:ll,) 99 ) Cabj:u.ud 5|J..;| 4.;:\:\4
s a={] AY
> for xin [0, 1, 2]:
foryin [3, 4, 5]:
if x!=y:
a.append((x,y))
print(a)
[0,1,2,3,4,5] C
[(1,3),(1,4).(1,5). (2, 3), (2, 4), (2 5)] (e
[0, 1, 2), (3, 4, 5)] (d
[(0,3).(0.4).(0,5),(1,3),(1,4).(1,5), (2, 3), (2, 4). (2, (o
|
¢ Caeul e‘.\S ug:'a:aLg BER-S) C'Abjlwd 6')?‘ 4.;3.14
Lo gis AY
a=10,1,2,3]
del a
print(a)
None (&
Null (s.a
NameError (z
[0, 1,2, 3] (4
ouldicl ju3ayl9e 3 S als 5 (o giuly yo deddia sladid ) ¢l
b gl ' ' A¥
9 guti o0
{1 (S
o (<
it it (&
e (¢
S Cosl alas (5 gialy o ) Ol ygheus Gl daais AD




X =["Yesterday's", "Today's", "Tomorrow's"]
y = ['temperature’]

foriinx:
if i[0] =="T"
forjiny:
print(i, j, end="")
Today's Tomorrow's temperature (S
Today's temperature Tomorrow's temperature (o
temperature Today's Tomorrow's (z
Today's temperature Tomorrow's (o
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Sdw class Furniture: AP
def legs(x):
print(‘has %s legs' % Xx)
Furniture.legs(4)
Furniture has 4 legs (S
Error (&
has 4 legs (T
legs has 4 legs (s
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import random
x=1[3,8,6,5,0]
print(random.choice(x))
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Loy gis import random A q.
X =['Monday', 'Tuesday’, 'Wednesday', 'Thursday’,
'‘Friday’, 'Saturday’, 'Sunday']
print(x[random.randint(0, len(x) - 1)])
IndexError (S
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X ='Monday’
print('Day' not in x)
‘Day' not in x (A
'Monday' not in x (o
True (d
False (v
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def abc(x):
try:




print(20 / x)

except:

print('Not a valid argument’, end="")
print(abc(0))

NameError

Not a valid argument

Not a valid argument None

ZeroDivisionError
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def abc():
x =10
print(x)
abc()

x =12

a¥

NameError

12

10

0
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def xyz():
X =40
abc()
print(x)
def abc():
a=32

x =10
xyz()

a0

NameError

40

10

32
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import random
print(int(random.random()*10))
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None (T
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oy gl import copy Y

x=15,4,3,2,1]

y = copy.copy(x)

x.append(6)

print(y[O])
[61 41 3a 21 1] (&l
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X ='print("Python")'

eval(x)
print("Python") (S
X (¢
0 (d
Python (o
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class Furniture:
e def chair(x): a4

print('lt has %s legs' % x)
def table(x):

print(lt has %s legs' % x)
Furniture.table(6)




It has 4 legs

It has no legs

It has O legs

It has 6 legs
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X =25

y =10

while x <26 and y <11:
Xx=x+1

y=y+1

print(x,y)

2611
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